

PO Box 93999 Southlake, TX 76092

Voice:

(817) 546-7282

Fax:

(817) 246-3361

Bill To:

Murfin Drlg. Co., Inc. 250 N. Water STE #300 Wichita, KS 67202 INVOICE

Invoice Number: 1383 00

Invoice Date: Aug 27, 2013

Page:

1

Now Includes:



Customer iD Field Ticket # Payment Terms				
Murfin	61311	Net 30 Days		
Job Location	Camp Location	Service Date	Due Date	
KS1-01	Oakley	Aug 27, 2013	9/26/13	

Quantity	ltem	Description		Unit Price	Amount
1000 0 7 150 1 5 MI	8 / 8 / 1 / 10 / 10 / 10 / 10 / 10 / 10	Erickson B #1-1	_		
190.00	CEMENT MATERIALS	Class A Common		17.90	3,401.00
7.00	CEMENT MATERIALS	Chloride		64.00	448.00
199.50	CEMENT SERVICE	Cubic Feet		2.48	494.76
li .	CEMENT SERVICE	Ton Mileage		2.60	1,076.16
	CEMENT SERVICE	Surface		1,512.25	1,512.25
45.00		Pump Truck Mileage		7.70	346.50
1	CEMENT SERVICE	Manifold Head Rental		275.00	275.00
45.00		Light Vehicle Mileage		4.40	198.00
1	CEMENT SUPERVISOR	Andrew Forslund			
	EQUIPMENT OPERATOR	Tyler Flipse			
	OPERATOR ASSISTANT	Brandon Wilkinson			
			Α.		
		,	<i>Y</i>		
			,		

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

2,713.08

ONLY IF PAID ON OR BEFORE
Sep 21, 2013

Subtotal	7,751.67
Sales Tax	304.07
Total Invoice Amount	8,055.74
Payment/Credit Applied	
TOTAL	8,055.74

ALLIED OIL & GAS SERVICES, LLC 061311 Federal Tax J.D. # 20-8651475

REMIT TO P.O. BOX 93999 SOUTHLAKE, TEXAS 76092	X I.D. # 20-8651475	SER	VICE POINT:	Kley
DATE 8-22-23 SEC. 1 TWP. 5 RANGE 3/	CALLED OUT	ON LOCATION	JOB START	JOB FINISH
LEASE WELL# /-/ LOCATION REX	FORD IN 1E	GN	COUNTY	STATE
(Sincic One) 1744) 145	Ninto .		Texastires	1 /25
CONTRACTOR MULTIN #2 TYPE OF JOB SALFACE	OWNER Sc	one		···
HOLE SIZE 12/4 T.D. 2257 CASING SIZE 828 DEPTH 2257	CEMENT			
TUBING SIZE DEPTH	AMOUNT ORD	ERED <u>190</u>	sks com	,
DRILL PIPE DEPTH	_ 3700			
TOOL DEPTH PRES. MAX MINIMUM			·	
MEAS. LINE SHOB JOINT	_ COMMON/S	20 sls	@ 12.80	3401.00
CEMENT LEFT IN CSG. 15-1	POZMIX		@	UNDITOC
PERFS.	GEL CHLORIDE	2 1/2	@	
DISPLACEMENT 13,32 BBL	ASC		@ <i>(<u>6</u>9/0</i> 0) @	448.00
EQUIPMENT			@	
PUMP TRUCK CEMENTER And JOSEP 10 -			@	
# 433	9		@	
BULK TRUCK			<u>@</u>	
# 347 DRIVER 1300 15000	~^-		@ @	
" DOCK TROCK	W,		@	
# DRIVER	HANDLING 19	O 4- A - Z - C	@	
REMARKS:	MILEAGE 2.62	4 / 11 0		494,26 1074,16 5419,92
		SERVICE		
Cement Did Circulate	DEPTH OF JOB		2251	
	PUMP TRUCK CE	HARGE		5/2,25
	EXTRA FOOTAG MILEAGE_ <i>45</i>		a) .	
	MANIFOLD 4			346,50
Thank you	Lightvehick			198.00
CHARGE TO: MUFFIN			»	
STREET.			TOTAL	2331,25
CITYSTATEZIP			IOIAL	<u></u>
	PLU	ig & float e	QUIPMENT	•
			· · · · · · · · ·	
To: Allied Oil & Gas Services, LLC.			?	
You are hereby requested to rent cementing equipment) _	
and turnish cementer and helper(s) to assist owner or		@	, -	
contractor to do work as is listed. The above work was				
done to satisfaction and supervision of owner agent or contractor. I have read and understand the "GENERAL			TOTAL _	
TERMS AND CONDITIONS" listed on the reverse side.	SALES TAX (If An	y)		. i
	TOTAL CHARGES	7,751	. 6 7	
KRINTED NAME HETIKO (Calletto &	DISCOUNT _3	71308	IF PAID	IN 30 DAYS
PRINTED NAME ATUKO Caberos	•	2 ′038·20	Net.	



PO Box 93999 Southlake, TX 76092

Voice:

(817) 546-7282

Fax:

(817) 246-3361

Bill To:

Murfin Drlg. Co., Inc. 250 N. Water STE #300

Wichita, KS 67202

INVOICE

Invoice Number: 138446

Invoice Date: Sep 4, 2013

Creet. Prod-Ltt

Page:

1

Now Includes:



Customer ID	Field Ticket#	Payment T	erms
Murfin	60747	Net 30 Days	
Job Location	Camp Location	Service Date	Due Date
KS1-03	Great Bend	Sep 4, 2013	10/4/13

Quantity	[tem		Description	Unit Price	Amount
THE COLUMN THE PROPERTY OF THE PARTY OF	SWEET STATE OF STATE STA	Erickson B #1-1	A 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1		- :
132.00	CEMENT MATERIALS	Class A Common		17.90	2,362.80
88.00	CEMENT MATERIALS	Pozmix		9.35	822.80
8.00	CEMENT MATERIALS	Gel		23.40	187.20
55.00	CEMENT MATERIALS	Flo Seal		2.97	163.35
236.28	CEMENT SERVICE	Cubic Feet		2.48	585.97
1.00	CEMENT SERVICE	Ton Mileage Charge		380.00	380.00
1.00	CEMENT SERVICE	Plug to Abandon		2,485.59	2,485.59
45.00	CEMENT SERVICE	Pump Truck Mileage		7.70	346.50
45.00	CEMENT SERVICE	Light Vehicle Mileage		4.40	198.00
1.00	CEMENT SUPERVISOR	Kelly Gabel			2
1.00	EQUIPMENT OPERATOR	Mike Scothorn			
1.00	OPERATOR ASSISTANT	Brandon Wilkinson			
		-			
					-
			$\delta \delta = 0$		
			0)4		
		1			

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

2,636.27

ONLY IF PAID ON OR BEFORE Sep 29, 2013

Subtotal	7,532.21
Sales Tax	595.04
Total Invoice Amount	8,127.25
Payment/Credit Applied	
TOTAL	8,127.25

ALLIED OIL & GAS SERVICES, LLC 060747

Federal Tax I.D. # 20-8651475 REMIT TO P.O. BOX 93999 SERVICE POINT; SOUTHLAKE, TEXAS 76092 Great Bend, 15 CALLED OUT DATE 9-61-13 ENGLISON LEASE 13 ON LOCATION JOB START JOB FINISH 31 LOCATION I'M VY NI NI NEC 7:00 WELL# OLD OR NEW (Circle one) Rawling CONTRACTOR M_2 OWNER Same TYPE OF JOB DT/ 21/8 HOLE SIZE T.D. 1864 (2) 4447 CEMENT CASING SIZE DEPTH AMOUNT ORDERED 220 4Kg GOLGO POZ 490gd Yu# Flo-92al TUBING SIZE DEPTH DRILLPIPE DEPTH TOOL DEPTH PRES. MAX 4 35 MINIMUM COMMON 2363,80 MEAS. LINE SHOE JOINT POZMIX 822.82 @ CEMENT LEFT IN CSG GEF. @ 2349/ 55730 PERFS. CHLORIDE DISPLACEMENT ASC EQUIPMENT Fla-5091 16335 554 PUMP TRUCK CEMENTER Kelly Con bed # 366 BULK TRUCK # 347 HELPER MIKE Scothern @ @ DRIVER Brandon Li Silkinson a **BULK TRUCK** @ DRIVER HANDLING 236,287 CF @ MILEAGE @ Econo 7.566 non @ 2 07 585 24 in 2 tones 38020 REMARKS: TOTAL 5/507. 59 Solety inecting regarding on Mustin = 7 miles construct plugs + displaced can SERVICE 250 2575 100@ 1775 DEPTH OF JOB 400 275 PUMP TRUCK CHARGE 248535 10 @ 40
30 24 15M + Duredout Duratives
rigged ocen Tigat your EXTRA FOOTAGE a MILEAGE @ MANIFOLD (a 1981 1. See Vehicle £ ይ ሂ ካ @ CHARGE TO: MELT TOTAL Let 45 55 STREET. STATE. ZIP_ PLUG & FLOAT EQUIPMENT @ **@** To: Allied Oil & Gas Services, LLC. **@** You are hereby requested to rent cementing equipment @ and furnish cementer and helper(s) to assist owner or 0 contractor to do work as is listed. The above work was TOTAL done to satisfaction and supervision of owner agent or contractor. I have read and understand the "GENERAL SALES TAX (If Any)_ TERMS AND CONDITIONS" listed on the reverse side. TOTAL CHARGES 10.650-68 DISCOUNT 3, 727.73 IF PAID IN 30 DAYS PRINTED NAME ALES Colored 6,922.94 Nct. SIGNATURE SKTIET CURPER